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Problem solving questions by understanding.

QUESTIONS ON REASONING

1)   George says 48 tens + 12 ones is greater than 500 ones. Johnson says 48 tens

      + 12 ones is less than 500. Who is correct? Give your answer with explanation? 

2)   Revathi says 527 ones is greater than 14 tens +  200 ones Bhagya said 527

      ones is less than 14 tens + 200 ones. Who is correct? Give your answer with

      suitable explanation?

1 ten = ___ ones

10 tens = ___ ones

1 ten = ___ ones
14  tens + 200 ones

48  tens + 12 ones

______ is correct.  

492 _________ 500  

48 tens + 12 ones ________ 500  

527 ones ___________ 340 ones  

527 ones ___________ 14 tens + 200 ones

____ ones  +  12 ones

____  +  2 = ____ ones

___ ones  + ___ ones = ___ ones

______ is correct.  
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